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AP® Macroeconomics 2024 Scoring Guidelines

Question 1: Long 10 points

(a) Calculate the natural rate of unemployment as 5% and show your work. 1 point
Natural UER = Actual UER — Cyclical UER = 8% — 3% = 5%
OR
Structural UER = Actual UER — Cyclical UER — Frictional UER =8% —3% - 4% = 1%

Natural UER = Frictional UER + Structural UER =4% + 1% = 5%

(b) Draw a correctly labeled aggregate demand—aggregate supply graph that shows PL; and 1 point
Y: at the intersection of the aggregate demand (AD) and short-run aggregate supply
(SRAS) curves.

Price Level

SRAS,

PL,

AD,
Y, Real GDP

For the second point, the graph must show a vertical long-run aggregate supply (LRAS) 1 point
curve to the right of Y; and label the full-employment output Y.

Price Level LRAS

SRAS,

/
E \ADI

Real GDP

Total for part (b) 2 points

(c) (i) Explain that input prices (e.g., nominal wages) and/or inflationary expectations will 1 point
decrease, causing SRAS to increase until it reaches full employment.
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(ii) On the graph from part (b), show how Alpha’s economy will adjust to full employment in 1 point
the long run by shifting the SRAS curve to the right until it intersects the AD and LRAS
curves at a lower price level, labeled PL,.

Price Level LRAS
SRAS,
— SRAS,
AD,
Real GDP
Total for part (c) 2 points
(d) State that the central bank would decrease its administered interest rates or decrease 1 point
interest on reserves.
(e) Draw a correctly labeled graph of the reserve market with the supply curve intersecting 1 point

the demand curve in the range of ample reserves.

Policy Sk
Rate

PR, B

Q, Quantity of
Reserves
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For the second point, the graph must show a decrease in the administered interest rates, 1 point
resulting in a decrease in the policy rate.

Policy Sk
Rate

PR |-—————

D
PR, 1\ i L3
Q, Quantity of
Reserves
OR

For the second point, the graph must show a decrease in the lower bound of the demand
curve for reserves, resulting in a decrease in the policy rate.

Policy Sk
Rate

PR,

D
Q, Quantity of
Reserves
Total for part (e) 2 points
(f) For the first point, state that the price of previously issued bonds will increase and the 1 point
price level will increase.
For the second point, explain that the decrease in nominal interest rates will increase 1 point

interest-sensitive spending (consumption, investment, or net exports), which will
increase aggregate demand.

Total for part (f) 2 points

Total for question 1 10 points
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Q1 Sample A Page 1 of 1

Important: Completely fill in the circle Question1 Question2 Question 3 [ J
that corresponds to the question you
are answering on this page. ® O O

Begin your response to each question at the top of a new page.

o) NeU= 87 -2/ = Sx (NRU = fotn! ineimploghmesd ~ cyclical wemplagn-end)
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Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.
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Q1 Sample B Page 1 of 1

Important: Completely fill in the circle Question1 Question2 Question 3 ®
that corresponds to the question you
are answering on this page. ] O O

Begin your response to each question at the top of a new page.
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Q1 Sample C Page 1 of 2

Important: Compleiasry fill in the circle
that corresponds to the question you x
are answering on this page. ® O O

Question1 Question 2 Quntion;

Begin your response to each question at the top of a new page.
a) NRU = FLV+ SRY
Ol wnemplogment = CRV4 FRUCSRY  Musmwt rode of

- yaemfle ymen|

RY = 3/ + ) + Spv KU shuckenl e of
8/. =727 +SkV cnuwmff”mk of
)/ = SRV S £ Ftaf v, o
NKV: L{/ "'\ y = @ vl P loymani-
L) )i
. Keha
fre Y

ﬂzﬁ’o? )

¢) V) Wt'J"L\llower (rce L:Vd) j;::cef o F 5oacfs
WE\[ Jmp, bn’ﬂﬁinj an mcr’eq.rea/ ngr%?(jm‘c
Jermand, Whick ‘sigptagy vl SLAE the
agswjak Jamq»z/ (Ve H» Hhe n:jth md
cavse  a redry o NI emplymest ia e
{M. v -

1) To close He okt gap, Alfha's cental fanu
/1€eds “‘D {ﬂﬁf(d_se, Mmoney Sufﬂj,wh,‘cé
Wil rebvee intred pales, theretwe  inowisin
1(1\/651[0%4; wnd 7%0’5 fmfmfsr}y aggf?gdfe Jemaj

Page 2

Use a pen with black or dark biue ink only. Do NOT write your name. Do NOT write outside the box.

o & o ee @ @ ® asssvz @




Q1 Sample C Page 2 of 2

@ important: Completely fill in the circle Question1 Question2 Question 3

that corresponds to the question you
are answering on this page. ® O O

Begin your response to each question at the top of a new page.
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AP® Macroeconomics 2024 Scoring Commentary

Question 1
Note: Student samples are quoted verbatim and may contain spelling and grammatical errors.
Overview

The question examined students’ understanding of the aggregate demand-aggregate supply model in
a recessionary gap environment, self-adjustment to full employment in the long run, and the effects of
monetary policy in a banking system with ample reserves on the reserve market, the price of
previously issued bonds, and the price level.

The question begins by asking students to assume that the hypothetical economy of Alpha is in
short-run equilibrium with a cyclical unemployment rate of 3%, a frictional unemployment rate of
4%, and an actual unemployment rate of 8%.

In part (a) students are asked to calculate the natural rate of unemployment and to show their work.

In part (b) students are asked to draw a correctly labeled graph of the aggregate demand, short-run
aggregate supply, and long-run aggregate supply curves, show (i) the current equilibrium real output
and price level, labeled Y; and PL;, respectively, and (ii) the full-employment output, labeled Y.

In part (c) students are asked to assume that policymakers take no action to close the output gap and
to (i) explain how Alpha’s economy will adjust to full-employment in the long-run and (ii) show on
the graph in part (b) how Alpha’s economy will adjust to full employment in the long-run, labeling
the new equilibrium price level PL..

In part (d) students are asked to assume that Alpha’s central bank is considering using monetary
policy to close a recessionary output gap. The banking system in Alpha has ample reserves.
Students are asked to identify a specific monetary policy action the central bank of Alpha would take
to close the output gap in the short run.

In part (e) students are asked to draw a correctly labeled graph of the reserve market in Alpha, and
show the effect of the monetary policy action identified in part (d) on the policy rate.

Finally, in part (f), based on the change in the policy rate shown in part (e), students are asked what
will happen to (i) the price of previously issued bonds and (ii) the price level and to explain.
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Question 1 (continued)

Sample: 1A
Score: 10

The response earned 1 point in part (a) for calculating the natural rate of unemployment as 5% and
showing the work. The response earned the first point in part (b) for drawing a correctly labeled
aggregate demand-aggregate supply graph showing Y; and PL; at the intersection of AD and SRAS.
The response earned the second point in part (b) for correctly showing a vertical LRAS curve to the
right of Y; and labeling the full-employment output Yr. The response earned 1 point in part (c)(i) for
explaining that input prices will decrease, causing SRAS to increase. The response earned 1 point in
part (c)(ii) for correctly shifting the SRAS curve to the right until it intersects the AD and LRAS
curves at a lower price level, labeled PL,. The response earned 1 point in part (d) for stating that the
central bank would decrease its administered interest rates. The response earned the first point in
part (e) for drawing a correctly labeled graph of the reserve market with the supply curve intersecting
the demand curve in the range of ample reserves. The response earned the second point in part (e)
for showing a decrease in administered interest rates, resulting in a decrease in the policy rate. The
response earned the first point in part (f) for stating that the price of previously issued bonds will
increase, and the price level will increase. The response earned the second point in part (f) for
explaining that interest-sensitive spending will increase, which increases aggregate demand.

Sample: 1B
Score: 5

The response earned 1 point in part (a) for calculating the natural rate of unemployment as 5% and
showing the work. The response earned the first point in part (b) for drawing a correctly labeled
aggregate demand-aggregate supply graph showing Y; and PL; at the intersection of AD and

SRAS. The response eamed the second point in part (b) for correctly showing a vertical LRAS curve to
the right of Y; and labeling the full-employment output Yr. The response did not earn the point in part
(c)(i) because it does not explain that the increase in SRAS is due to a decrease in input prices and/or
inflationary expectations. The response earned 1 point in part (c)(ii) for correctly shifting the SRAS
curve to the right until it intersects the AD and LRAS curves at a lower price level, labeled PL.. The
response did not earn the point in part (d) because it does not state that the central bank would
decrease its administered interest rates or interest on reserves. The response did not earn the first
point in part (e) because it does not draw a correctly labeled graph of the reserve market. The response
did not earn the second point in part (e) because it does not show a decrease in the administered
interest rates, resulting in a decrease in the policy rate. The response earned the first point in part (f)
for stating that the price of previously issued bonds will increase, and the price level will increase. The
response did not earn the second point in part (f) because it does not explain that the increase in
aggregate demand is due to an increase in interest-sensitive spending.
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Question 1 (continued)

Sample: 1C
Score: 3

The response earned 1 point in part (a) for calculating the natural rate of unemployment as 5% and
showing the work. The response earned the first point in part (b) for drawing a correctly labeled
aggregate demand-aggregate supply graph showing Y; and PL; at the intersection of AD and SRAS.
The response earned the second point in part (b) for correctly showing a vertical LRAS curve to the
right of Y; and labeling the full-employment output Yr. The response did not earn the point in part (c)(i)
because it does not explain that input prices will decrease, causing SRAS to increase until it reaches
full employment. The response did not earn the point in part (c)(ii) because it does not shift the SRAS
curve to the right until it intersects the AD and LRAS curves at a lower price level, labeled PL,. The
response did not earn the point in part (d) because it does not state that the central bank would
decrease its administered interest rates or interest on reserves. The response did not earn the first
point in part (e) because it does not draw a correctly labeled graph of the reserve market. The response
did not earn the second point in part (e) because it does not show a decrease in the administered
interest rates, resulting in a decrease in the policy rate. The response did not earn the first point in part
(f) because it states that the price of previously issued bonds will decrease. The response did not earn
the second point in part (f) because it does not explain that the increase in aggregate demand is due to
an increase in interest-sensitive spending resulting from lower nominal interest rates.
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